EHH 2022/6/30
T8 (AR) 2022 4 6 A

| H H#\HE | Off~108% 10B5~110% 1185 ~120% 1205~ 130F 1365~ 14085 1485~ 150% 1505~ 160 1665 ~170% 1705~ 1805 1885~ 198% 1985~ 200% 205 ~210F

B | & *IINL—BHEER

4H T

S5H H

6H A

7H K

sg | *EBTHPTA/N\L—R—ILKE #{§

om | * *EBTHPTA/\L—ER—ILKE

N *RIEAS

118 | *ERTREERS
128 | B *EETRERKS

138 | A

148 | % *FQETOAYILTA—RAEBRKREFER

15H 7K

16H /N

178 &
188 | t X E7SNEEEERLERETRE ¥ 2ESRBAETESLRYVY)
198 | B *HhR/\L—K&




=]

M-

EHHE 2022/6/30
MK\ R NIVY BEK EEEHEE
208 | A
CAC(HT{A#R)
o1m | EENV-K-VE=E PR VR (V) HLELVIFT (RIK) EEI=TZA (EPNE Rz 0 KIS (EBK)
BEAEFRFE) DD
AR 2 BK UYM(V'H) NIV
22H | K ‘ ‘
EPNGY %) OOEAWNE)
23m | * BAWNE) W77 (W) BiE7—Y INBAS(/V' A7)
Ry 29(2Zh-)) BunBunSP(/n\'})
oag | 2 I HNGTT N RT) EDIE)77 (k) -V BEKEIF R {EEI=TZA EENNINITT
IVYMAUN A=’ RGEHTAIR)
50 + *¢=§==;(7|'f—“j§§$$ _ BunBunSP(/\'})
BEANW)
on | 8 *HR/AFIVI AR o
BAGE)
278 | A
osm | EENV-K-IVE=E R VA WH) HLELV)FT(REK) {EEI=TZA KEE=(EIK)
BAWNL-) MRy 29(2zh-) 1 A G iR i2)
i SRS " RN A
o EEES EAGHR) BAGT)
308 X AW W77 (V) B BN L—==) BunBunSP(/n\'})
UYM(V'E) INBAS(/V'27)
THIZAHE(ARA) 2022 4 6 H
B [BEN\BE| om~108F | 10BE~11B% 1185~ 1285 1285~ 1385 1305~ 1485 1485~ 158 158 ~168 | 16B~178 | 1785~188F | 18H~19B 1985 ~ 2084 208~ 210
18 K BAREE) EBITFAZTHEREI77
2H N i AR E BAREE *iL5& ik
3H & Ly AR —I({KE) IV IR IV A FAY e EBITAZEEREI77 FEEER
4H T EERZEF BAEE) BRR(EF) BARESE)
58 | H *IIBRRBEEES
6 H A (EPNCIPED B A(ZEF. &:E)
78 UN EPNCZSE)) NyE—I70 CSA(¥7)
8H K ERBITAZHREI77 EA(ZEF)
9B | K ZYN P * 3L & ik
108 | = Ly AR —Y({KiR) IV IR IV I ETRT= ERITAZEEREI77 FEEER
118 | £ EERZEF B A(ZEF) BRR(EF) BEAGERE)
28] H kLG AIBZF
138 | A
148 | %X NnwE-ITA CSA(F7)
15| XK BEAREE) EBITAZEREI77 BEAREE)




BEEH 2022/6/30

= [1eB| % % A 138 MYK i * 3L &
i”’_ 178 % Ly AR =Y (KR IV RN A TR o EBFAZEHREIT7 FEEER
188 | =% EEmEF BRR(ZEF)
198 | H * L&k AEBEF EREEREE OB (EPNCIPEN
20H | H
21H X NE—-IT7O CSA(F7)
228 | K EBITAZEREI77
238 | XK % A B8 *ILE R
2480 | £ *EBRTERE
250 | * *ERTEEX (EPNCIPEN
268 | B *ILE R Aigze BAEF) B A(EEHE)
278 | A
28H | X EPNCZS=) NE-I70 CSA(F7)
29H | K BEAREE)
30H | XK 13 A RI5E CSA(F7) * &R
THIZAE(AB) 2022 4 6 H
H H#\EEE | OfF~ 108 10~ 110F 116~ 1208 1285~ 130 13K~ 140F 1485~ 1508 15K~ 160 165~ 1705 1785~ 18K 18K~ 190F 195~ 200F 20 ~210F
1H 7K
2H 7N
3H &
4H T
5H =|
68 A
78 X
8H 7K
9H 7N
108 | €
118 | *EEERMAR(ERE)
128 | H *ERESRMRR(ESE)
138 | A
148 | X
158 | K
160 | K
178 | €
18H T
198 | H
20B | H
21H | X
22H | K




BEHH 2022/6/30

S fm JL

23H| K SWIR K CSA(¥7)
248 | % LyY AR =Y (K1) BED(ASR FZEH=E
25| * FEEFRIER(ERIE) BEA(ZEF) ERERE RER(ZEF)
26H | H EREERE BEAN(EF)
278 | A
28H | K BANESE) BEARERS ERERE
208 | K BEFREERS w56 -3n’ ZEHE
30H| K E2—T420 30 CSA(¥7)
TRIZAE(HB) 2022 4 6 H
H B\ R~ 108 1085~ 110% 118~ 1280 1205~ 138 138 ~148 | 14B5~158% 158~ 168} 168~ 178} 178~ 188 1885~ 198} 198 ~ 208} 2085 ~218F

18 7K PR

2H N

3H % TER

48 | £ K AILE B ERE BEES

5H =| ERmEER

6H A

7H K FE= ERmER SEEHR
8H 7K PR

9H ¥

10B| £ TER EEEER

ma| £ * D E B ERE 5EER

128 | H

138 | A

148 | X FE= SEEHR
158 | K Mg

168 | K

178 £ TE= EREEK

188 | =% K AIDE B EBE SEEHR

198 | H
208 | A
218 | % FE= SEER
228 | XK PHES
23H| K
248 | & TER EREER
250 | + K I E S ERE K TTEXE(—BROHER)
268 | H KX TRRE(FEEDE)
27H A
28H | % FER SEER
208 | K PHE=




EHE 2022/6/30
30H xR
THIZAE(AR) 2022 % 6 H
=HECAN- Off ~ 108 108~ 118 118~ 128 1285~ 130 138~ 148 1485~ 150 158~ 168 1685~ 170 178~ 180 188~ 190 198§ ~ 208 208 ~218
18 7K
2H R
3H % KX VI/NL—BYHEEES
48 | EM B T F 22 15 2 P 6 IPERAGES
s | B
68 | B
78 | %
gl | XK * HE2EEM=E *EBTHPTA/AL—R—ILKE #H
9B | K *ERBTPTA/AL—R—ILKE
108 | £
18| * *EETREERSE
128 | A K ERAR
g [138] 7
148 | % *ERKE
Ji 158 | 5k BEEEESS
él; 168 | K
B | 17m | 2
E [1sm| + X EVAARBESERBEKNEAL ¥ LEBRRETER(LRYLY)
198 | =B
20H H
21| X
228 | K T EEE
23H| K
24H &
258 | * K EEAN—YEREE
268 | H
278 | A
288 | % HLELV)F7 (S )
2980 | K
30| K
THIZAHE(AH) 2022 4 6 A
=] H#\HE OfF~108F 10~ 116F 116K~ 120F 1285~ 130 13K~ 140F 1485~ 1508 1505~ 1605 165~ 1705 1785~ 18K 18K~ 190F 195~ 200F 200 ~210F
18 7K
2H ¥ N
3B | ¢




(D R

BEHH 2022/6/30

+ EEERE SHOIN RG(F{kiR)
4H

5H =

6 H A

T *{EBTHPTA/NL—R—ILKE %%
8H 7K :

9H N *ERATHPTA/\L—FR—ILKE
10H &=

11H T

128 | H *EEARMREE(ERIE)

13H A

148 | X EEEESE

15H 7K

16H xR

178 &

18H T

19H =

20H A

21H PN

22H 7K

23H xR

248 | £ *iEETEE

25H + *iEETEE

26H =

27H )=

28H X

29H 7K

30B| K




